
02 Arduino
Timer



Feladat:

• 1Hz időzítő

• Led villogtatása

• Delay helyett interrupt-tal 



„holy”Datasheet









void setup() {

Serial.begin(115200);

pinMode(13, OUTPUT);

noInterrupts();

//TCCRnA/B/C Timer/Counter

Control Register

TCCR1A = 0;

TCCR1B = 0;

//TCNTn Timer/Counter

TCNT1 = 0;



TCCR1A

• Bit 7:6 – COMnA1:0: Compare Output Mode for Channel A

• Bit 5:4 – COMnB1:0: Compare Output Mode for Channel B

• Bit 3:2 – COMnC1:0: Compare Output Mode for Channel C

• Bit 1:0 – WGMn1:0: Waveform Generation Mode





OCRnx érték =

[ 16 000 000Hz / (prescaler * kívánt_frekvencia) ] - 1 

(-1: 0-tól számol)

//OCRnA/B/C Output Compare Register 

OCR1A = 15624; // = 16 000 000 / (1*1024) - 1 

// OCRnx < 65536 16bites regiszter esetén

DATASHEET:

//The 16-bit comparator continuously compares TCNTn with the 

Output Compare Register (OCRnx). If TCNT equals OCRnx the 

comparator signals a match. A match will set the Output Compare 

Flag (OCFnx) at the next timer clock cycle. If enabled (OCIEnx = 

1), the Output Compare Flag generates an Output Compare 

interrupt. The OCFnx Flag is automatically cleared when the 

interrupt is executed.



TCCR1B

• Beállítandó paraméterek:
• Clear Timer on Compare (CTC) modes of operation

(WGMn2 bit)

• 1024 precaler (CSn2:0 bit)





WGMm: Clear Timer on Compare (CTC) modes of operation



//WGMn3:0 Waveform Generation mode

TCCR1B |= (1 << WGM12);

//CS10:2 -> 1024 prescaler

TCCR1B |= (1 << CS12) | (1 << CS10);

TCCR1B



// enable timer compare interrupt

TIMSK1 |= (1 << OCIE1A);

(OCIEnx: Output Compare Interrupt Enable 1A)

interrupts();

} //setup ends

Megszakítás engedélyezése, globális 
megszakítások engedélyezése



Megszakítás kiszolgálása

ISR(TIMER1_COMPA_vect){

//Ha TCNT1 (Timer/Counter1) eléri 

OCR1A értéket

digitalWrite(13,1-digitalRead(13));

//digitalWrite() digitalRead() 

}



loop (~main)

void loop() {

// put your main code here, to run 
repeatedly: 

delay(1000);

myFun();

}

void myFun(void){

Serial.print(".");

}


